


1 i | 3 CATTIET 18 Wi 48
7 'l'huamplilmlcmndumnun.a1-,_rnul without a carrier is known as _

A) SSB-SC

By DSB-SC

) BothAand B

D} None of the above

% Choose the incorrect statement
A} SMPS is less sensitive to input voltage variations
B) SMPS is smaller as compared to rectifiers
C) SMPS has low input ripple
D} SMPS is a source of radio interference

9.  The magnetic field produced in the stator of a three phase induction motor tra vels at
A) Rotating speed
B) Synchronous speed
C) Asynchronous speed
D} Slipspeed

10. Alternating Current (AC) cannot be measured by DC ammeter because:
A)  Alternating current cannot pass through the DC ammeter
B) Average value of complete cycle is zero '
C)  Alternating current changes its direction
D)} None ofthe above

11.  Whatis a common use of'a Band Pass Filter in Radio Wave Propagation?
A)  Itallows only a specific range of frequencies to pass through
B) Itallows all frequencies to pass through
C)  Itblocks all frequencies from passing through
D) Ttamplifies all frequencies equally

12.  Classify the angle as acute, right, obtuse, straight:

List] Listli

e A 0 Aeute
) = : -
< =il Right
) | oW Swgme
- |/

@ _ / | v Obuse

Match I with 1.
A)  a-il, biv, c-i, d-iii
B) a-ii, beiv, c-iii, d-i
C) asi, b+, ceiv, d-iii
D) a-ii, b, c-iii, d-iv
(Set - C) @



13. Two statements )
take the g:{t;:lzzlr[z:n!m#eu by m"'r_ L:“”'fi'-'-‘ii'ﬂm-a numbered in [, 11, I11, IV. You have to
known facts and Ihf::tjn\l?-m ee T.m"' 't_ they seem o e i.ﬂ.. variance from the commonly
given statements d; Ludluc which of the given u:nwh,,‘-mﬂﬁ logically follows from the
s tisregarding commonly known facts

=

Statements

I All stars are planets. A
ey
I All planets are stars v .+_% 28

[l.  All stars are trees

L All trees are planets

IV. Some trees are stars

Which of the conclusions follows logically?
A)  Only and IV follow

B)  OnlyIandll follow

C) All follow

D) Only Il and IV follow

\y./Mahch List I with List IT and select the correct answer using the codes given below the list
Li

st-1 List - 11
i.  Monitor 1. Displays the information in the visual form
ii. CPU 2. Processor for controlling and executing
instructions
iti. Information 3.  Processed data useful for the user

A) il ii-2, iii-3
B) -3, ii-2, iii-1
©) i3, ii-, iii-2
D) i, ii-3, iii-2

15. Which one of the following is not a type of magnetic storage system?
A) Magnetic tape

B) Compact disk
C) Hard disk
D) Floppy disk
\}ﬂ'/ Which of the following device is not a media input device 10 computer”
A)  Microphone
B) Webcam

C) Digital Camera
D) None of the above (P.T.0.

Sty ®)



],?lf The functions of operating systems arc
i, Process management
ii. Memeory management
iil,  File management
iv.  Device management

Choose the correct Answer

A) i, i, 1
B) i, i1 1v
C) i

D) il il v
v
,_Lﬁ Which of the following is not an output device?
A)  Scanner
B) Plotter
) Printer
) Projector

_;9./ Which of the following is a spreadsheet application program?
A} MS Access

B) MS Word
C) MS Excel
D) MS-DOS
\_;Ilf Match List-I with List-1I and Select the correct answer using the codes given below the
list
List -1 List - 11
i.  Operating System 1. Scanning Devices
ii.  Input Device 2. Security Management
iii.  Output Device 3. Projectors

A) -1, -2, iii-3
By 1-2, 1i-3, ni-1
C) -2, 1i-1, 1ii-3
D) i1, ii-3, {ii-2

21 Which one of the following is typed in the Run dialog box to access MS Word?
A) Winword
B)  Word
C} MEWUrd
D) Wmdpmmm
(Set-C)

(6)
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Choose the correct answer.

A) LI
B) ILHI
C) L MandIV
Dy
24, The minimum clearance of the High Voltage (HV) line from the ground across the road
should be.
A) 61m
B) 5lm
C) 3lm
D) Rlm

28. Ifthe supply voltage of a 3 - phase induction motor is increased two times, then, torque
is
A)  Increased twice
B) Increased 4 times
()  Decreased 4 Times
D) Remain the same

}6. At start, the following information is correct for induction motor.

L. Speed=0
I Shp=0.5
. Slip=1
IV. Slip=0
Choose the correct answer.
A) LIV
B) IV
C) landIN
D) LI
J‘i Eiz:ﬁl'lnt‘l:ﬂltenﬂ in column-1 with its closest meanin g in column-2.
: e Column-2
. Lenz's] o
i, Electfi-;m: L. Application of electromagnetic induction
i, Highp mﬁm Tl:?ﬂf 2. Polarity of induced voltage
% Reluctance ]ty 3. Inversely proportional to permeability
Choose the correct option, 4. Easily magnetized
gi} i-2, -1, iii-4, jv-3
4, §-2, §ii-3. jy.
Lr} : 1 o IV I "\

=1, ii-2, -3, jv-4
) i=3, 1-2, i-4, jy-|
(Set- )

(8)
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44. Foradipole antenna
A) the current distribution along its length is uniform
| length

irrespective of its length

B) the effective length equals thrice of its physica

C) the radiation intensity is maximum along the normal to the dipole axis

D) the input impedance is independent of the location of the feed point

45. Match List-X (Medium type) with List-Y (Frequency range) and select the correct
answer using the codes given below the lists:

List-X List-Y
.  Openwire .  100KHz
ii.  Twisted pair 2. 100 MHz
iii. Coaxial cable 3. 5KkHz
Codes:

i i i 3

" B S
B) 3 1 2
£y 2 3 |
o SR | 3

LF

46. Fill in the blank, “The generatinn.uf single sideband suppressed carrier
(SSB-SC) signal is done by discrimination methods.”

A)  Phase
B)  Frequency
C) BothAandB

D) None of the above

7. Which of the ﬂ}llf.}wmg best deseribes interlaced scanning in a picture tube?

A)

Scanning lines Progressively from top to bottom in one pass
B)

Seanning odd lines first and then even lines in two passes
Scanni i : :
©) Scanning all lines simultanqysly in o single pass

D)  Scanning half of the lines in the first pass and the other half in the second pass



48. Match the fﬂﬂawmg terms with their correct descriptions and select the co e

using the codes given below the lists.




51. Choose the correct alternative out of the four. |
It was very kind of you to do the washing-up, but you it.
A)  didn’t have to do
B) hadn’tto do
C) mightn’t have done

D} mustn't have done

32. Find out which part of a sentence has an error.

After knowing truth, (a)/ they took the right decision (b)/ in the matter. (c)/
No error (d)

A) a
B) b
5 R
D) d

53.  Outofthe four alternatives, choose the one which can be substituted for the given words/
sentence.

Prohibited by law or treaty from being imported or exported

A)  contraband
B) smuggled
C)  counterfeit
D)  forged

54. In the following questions out of the fo

: ur alternatives, choose the one which best
cexpresses the meaning of the given word.

Inclement

A)  Selfish

B)  Active

C)  Unfavourable
D} Inactive

§5.
Perspicuity
A)  Vagueness
B) Dullness
C) Unfairness
D} Unwillingness

(Set - C) (14)






61.

Choose the alternat

To let off steam, my friend started murmuring.
e A el 4,

A) to release his tension
B) toshow his anger
() toshow his approval

D) toshow his displeasure

62. Identify the best way to improve the underlined part of the given sentence,

She is a very good sprinter. I can't run as fast as she does.

A)  asshe do

B)  asshe doing

C) like she is doing

D)  noimprovement
63. Select the word which means the same as the group of words given.

~To express in an unclear way

A)  eloquent

B) garbled

C)  lucid

D) Intelligible
64. i:lztk t:?srr;::zinrz::e :j: to fill in the blank.

R . —— to have raip today,

¥

B} mostly

C) surely

D)  certainly
65, iv::cttr ?:hr:‘::::mpﬁala meaning of the given idiom,

, €rs 100k to their heels when they saw the

A) Bt Police toming,

B)  ranaway

€ faced them boldly

D) pr epared to figh
(Set - )

(16)

.« which best expresses the meaning of the Idiom/ Phrase.
ive St expres
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73.

74

& L1 H ol s 1 I?
The book titled “Memories Never Die” was published as a tribute to whom?

A)  Abdul Kalam

B) Atal Bihari Vajpayee
C) Pranab Mukherjee
D) Manohar Parrikar

Match the following Gold winning Paralympic athletes (Paris 2024) to the sports they
were associated with:

1.  Avani Lekhara i.  HighJump

2. Praveen Kumar ii.  Archery

3. Nitesh Kumar iti. Shooting

4. Harvinder Singh iv. Badminton

Choose the correct option:
A)  1-iii, 2-i, 3-iv, 4-ii
B) 1, 2-iii, 3-iv, 4-ii
C)  1-iii, 2-i, 3-ii, 4-iv
D) 1-i, 2-iii, 3-ii, 4-iv

In which year was English announced as the official language of the Government
throughout India?

A) 1815
B) 1825
C) 1835
D) 1845

75. :
‘;"-'h.n among the given options
Shisrat Ry Award as well?
A)

» had been conferred with the three Padma Awards and the
Sachin Tendulir

(£ 3]

C)
1)

Bismillgh Khan

Amartyy Kumar §ep

LE. Adviini

(Set - L'

(18)
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83.

Match the following International organization o 1ts Headquarters,

|. INTERPOL 7

2.  WWF i
% EU il
4. ICAO g

Match the above pairs appropriately.
A)  l-iii, 2-i, 3-1v, 4-ii
B) 1, 2-iii, 3-1v, 4-ii
C) -, 2-iii, 3-ii, 4-iv
D) l-iii, 2-1, 3-ii, 4-iv

SAARC Arbitration Council (SARCO) is situated in

A) India
B) Pakistan
C) Bhutan

D) Bangladesh

Lyon, France
Montreal, Canada
Vaud, Switzerland
Brussels, Belgium

Match the 2024 Nobel Prize Award winners to their field:

1. John Hopfield i
2. David Baker 1i.
3. Gary Ruvkun _ , iil.
4.  HanKang iv.
Choose the correct option.

A) -, 24, 3-iy, 4-ii

B) 14, 2-iii, 3-iv, 4-ii

C) 14, 2-iii, 3-ii, 4-iv

D) 1-fii, 2-i, 3-ii, 4-iv

Match the International news
1. The Guardian

2 The People’s Daily

3.  ElPajs

4. Kommersant

Choose the correct option.
A) 1-iii, 24, 3-iv, 4-ij
B) 1 e s 3-iv, 4-ji
Oy~ 14 2-iii, 3-ii, 4-jy
D o i

i
il
1il.
iv.

In which year, |

Chemistry
Medicine
Physics
Literature

paper to its base country:

China

Russia

United Kingdom
Spain

A) 950 Ndus Water ﬂdm.J\ was signed?

B) 1955
C) 1960
D) 1965

(Set - C)

(20)
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What was the mascot for the
Khelo India Wi ?
A) Snow mnter Games, 20247
B) Musk Daer
C) RedFox

D) Golden Eagle

[ Ifthe price ﬂfﬂ‘ﬁ ommodity is mcreasad by 50% by what fraction must its cor
keep ﬁcﬁme. expenditure on its consumption? '




j}‘i# Determi
-

e the number of months required to get Rs. 25

¥ at 3.6% per annum. L b
h s S W)
A) 10 months 7 | i | g [
B) 9 months v E e . - A
19 £ - |
) 8§ months I =1 al 7o . ‘) :,5'}
i (! & T?/_dﬁ L
D) 7 months i ( 7
- 1*:-1 M? \
¥
' issi in the following series: o~ 1/7/5’:“‘
/.82. Find the missing number in the following \7 [:.15/:—\ o
"] e &
& 10, 100, 200, 310, 7 ’ e A Ay {=-..;
A) 430 A 310 SH307%, )0
i U-J &@wwu e b
B-ll 420 \O UL f.rﬂ' "o e
C) 410 s
D) 440

_)3./ Find the missing letters in the following sequence in the correct order 4

u"f-/}f in a certain language PROSE is coded as PPOQE, how is LIGHT coded in that code”

(8
beash ca i SIS
abca_beaab ca bbe ﬂbm@]bwm@cé%a

A) ccaa

B} ahac gﬂig'-' b
_._.n-l"

C) abba g

D) bbaa

A) LIGFT

L
B) LGGHT e e
_ Iy F? (i
O et e
D) LLGFE Ay T
y]mminga Woman, a man said, “Her husband is the only son of my father”, How is th!
woman related 1o the man? ¢ P&}
A)  Husband T
="
B)  Sister
C)  Wife
D)y M s
(Set - C) (22) @3

2.3 as simple interest on Rs. 850

99.

100.

(Set






